- A

13 Write % as a percentage.

3 - 6
S0 oo ‘

%
(Total for Question 13 is 1 mark)

14 Write 0.06 as a percentage.
O.06 X 10O

6

(Total for Question 14 is 1 mark)

15 Write 0.11 as a fraction.

/1

/OO0
(Total for Question 15 is 1 mark)

16 Write 0.9 as a percentage.

O.9 x /oo
70 %

(Total for Question 16 is 1 mark)

17 Write 0.19 as a percentage.

O .19 X /OO

(]

(Total for Question 17 is 1 mark)

18 Write 0.025 as a fraction.

A5 R > - o R //,_
) 00 O 20 G40 el i
eXeRe
oy equavalent (Total for Question 18 is 1 mark)
(Wi l

N /




19 Write 12 as a decimal.
100
[ — LOO
O- 12
(Total for Question 19 is 1 mark)
20 Write 1—76 as a decimal.
7 < 10
.7
(Total for Question 20 is 1 mark)
21 Write 0.003 as a fraction.
3
1.O.C.O
(Total for Question 21 is 1 mark)
22 Write 0.3 as a percentage.
0.3 x100
A0 %
(Total for Question 23 is 1 mark)
v 9
23 Write 20 as a percentage.
/ -
o O O
2o rs
(Total for Question 23 is 1 mark)
24 Write 0.06 as a fraction.

6

——

/ OO0
(Total for Question 24 is 1 mark)

/




25 Dean says that 13% is greater than 0.1

Is Dean correct?
Give a reason for your answer.

YES ¢ eitmer 134 =013 2 0./3 > O./
6 0.l =107 and 135 > 107

(Total for Question 25 is 1 mark)

Vi

26 Tom and Jerry both earn the same monthly salary.

Each month:
Tom saves 35% of his salary.

3 ;
Jerry spends 3 of his salary and saves the rest of his salary.

Work out who saves the most money each month.
You must show your working.

s—

2 .
Jery soaves =5 = 4o 2
$ov, > 357
& Javes "WMove Moy,

(Total for Question 26 is 2 marks)

27 Write the following numbers in order of size.
Start with the smallest number.

0 7 4
75A)- ) 0.72 0.9 3
6.75 o7 0¥

7 .
10..0:72 754 5 0.7
(Total for Question 27 is 2 marks)

28 Write the following numbers in order of size.
Start with the smallest number.

1 1
. - 19 — 0.205
0.3 3 21% i

207, 335 255 29-54%

. / /
0-295 2/ F 0.3 73
(Total for Question 28 is 2 marks)
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1

Emma buys a house for £201 500
~ She sells the house for £213 590

Calculate the percentage profit Emma makes.

& }La,nﬁ £

or’{jina

X o O

213590 —20150€C

NDEe 1500

@

= 6 7,

(Total for question 1 is 3 marks)

Mel buys a house for £352 000
She sells the house for £325 600

Calculate the percentage loss Mel makes.

changt
ori'j inal

x loo

325600 — 352090

X /oo

352000

(Total for question 2 is 3 marks)

_




Last year Geri’s council tax bill was £1815

This year she has to pay £1906 for her council tax.

Work out the percentage increase in her council tax bill.

Give your answer to 1 decimal place.

906 - 157> X /o0
/€15

501379 . ~

(Total for question 3 is 3 marks

)

Last year Victoria paid £354 for her car insurance .
This year she has to pay £329 for her car insurance.
Work out the percentage decrease in her car insurance.

—_—
Give your answer to 1 decimal place.

329 - 354
35170

X oo

= = 7.06214... 7,

(Total for question 4 is 3 marks)

/




In 2000, the world population was 6.1 billion.
In 2015, the world population was 7.3 billion.

Work out the percentage increase in population.
Give your answer correct to 1 decimal place.

7.3 -6 |
6. |

x 10O

19.6721.

(Total for question 5 is 3 marks)

Banana computers sold 19.3 million computers in 2017.
In 2018, they sold 18.2 million computers.
Work out the percentage decrease in the number of computers sold.

Give your answer to three significant figures.

/) §.2 193
/9.3

X [ O o

G

- 5. 69 9¢8..

—

(Total for question 6 is 3 marks)

A




7  Last year Patrick paid £2534 for his annual train ticket. |

This year he has to pay £2612 for his annual train ticket.

Work out the percentage increase in the cost of his train ticket.
Give your answer correct to 3 significant figures.

26/2 — 253¢
2534

X 10Q

3.078137... Ve

(Total for question 7 is 3 marks)

8 The average house price in London in 2017 was £474902
The average house price in London in 2018 was £469538

Calculate the percentage change in house prices between 2017 and 2018.
Give your answer correct to 1 decimal place.

469538 — +74 702
GT7¢ 702

[O O

- _ 1.12949¢.. 2

— /.

........................................... Y%
(Total for question 8 is 3 marks)

- | /




9 Richard buys a car for £13 500
He sells the car for £9 500

Work out Richard’s percentage loss.
Give your answer correct to three significant figures.

- - /3500
?500 35 v.loa

/] 35 ¢co

c _ 29 629€.. S

(Total for question 9 is 3 marks)

10 Lottie buys a pack of 50 cans of lemonade.

She pays £17 for the cans.
Lottie sells 32 of the cans for 50p each. 202 x O. = = |6
She sells the remaining cans for 20p each. ¥ x 0.2 = 3.

Work out Lottie’s percentage profit.
Give your answer correct to three significant figures. oA q 6o

(Total for question 10 is 3 marks)

N _




Karen buys a pack of 8 bottles of water.
The pack costs £1.25

Karen sells all 8 bottles of water for 50p each.

Work out Karen’s percentage profit.

— 1.2 &
7 X JO o

l-25

IO -5 = Y

i Q. %

(Total for question 11 is 3 marks)

12

Theo buys 24 packs of crisps.
He pays £3 for the crisps.

Theo sells each pack of crisps for 50p. 24 x¥x 0.5

Work out Theo’s percentage profit.

X [0 0

e 300 %

(Total for question 12 is 3 marks)

J




- 13 Donald buys a pack of 9 chocolate bars.

The pack costs £2.50
Donald sells all 9 chocolate bars for 45p each. ,:7

» ¥ 045 = 4 05
Work out Donald’s percentage profit.

[4;-06 ~ %50 X /0 ©

2.50
................ G %0
(Total for question 13 is 3 marks)
14  Alan buys 1.2 kg of sweets. 20O 9

He pays £2.25 for the sweets.
Alan puts the sweets into bags. 200 = € bo g s
He puts 150g of sweets ineachbag.  — | 50

He sells each bag of sweets for 30p.

Work out Alan’s percentage profit.

g x 0.3 = 2.4

2z .25

[er 67T 6.672
(Total for question 14 is 4 marks)

/
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1 Jesy invests £8000 for n years in a savings account.

To find the value, V, of her investment after n years she uses the formula:
V = 8000 x (1.025)"

(a) Write down the annual rate of interest Jesy earns.

(1)
(b) Find the total amount of interest Jesy earns in three years.
=
oo x 1.025 =L 65,13
XLV5. 13 — 8000
£l D d D
2)

(Total for question 1 is 3 marks)

2

Perrie invests £25000 for 3 years in a savings account.
She gets 2.7% per annum compound interest.

Calculate the total amount of interest Perrie will get after 3 years.

3
25000} /. o027 = 27080,7
27080 .07 — ng5cee = fogso .7
£ 888 I T .

(Total for question 2 is 3 marks)

__ v



Jade bought a house for £250 000.

In the first year the house price increased by 3%
In the second year the house price increased by 2%
In the third year the house price depreciated by 5%

Work out the value of the house at the end of 3 years.

50000 X L.o3 X L.o2 x ©.95

=t 249324 .50

(Total for question 3 is 3 marks)

Leigh-Anne invests £2500 for 4 years in a savings account.
She gets 3% per annum compound interest.

How much money does Leigh-Anne have at the end of 4 years.

7500 x1.03" =£2813.77

(Total for question 4 is 2 marks)

o /




/

5

Annie invests £9500 for 5 years in a savings account.
She gets 1.8% per annum compound interest.

How much money does Annie have at the end of 5 years.

500 x o018 ° T flo 386. 3y

£..../ / 0386_37— .................
(Total for question 5 is 2 marks)

Greg bought a new car for £18 000.
In the first year the value of the car depreciates by 30%.
In the second year and the third year the car depreciates by 14%

Work out the value of the car after three yeats.

{1

2
| o000 X 0.7 X O. 86 $ 7 318. 96

....................................................

(Total for question 6 is 3 marks)

J
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7

Nick bought a new car.
Each year the car depreciates in value by 12%.

Work out the number of years it takes for the car to half in value.

0.822 = O.T77YY

0.£8° = C.Eg/472

0. 88" 7 0.5994953¢
@.?YS:' ©. 5277319/67¢
o 8¢¢= d.vé¢4o¢g{5

[bﬂj%hwb 05]

( ............. years

(Total for question 7 is 3 marks)

Fearne invests £5600 in a savings account.
She gets 2% per annum compound interest.

After n years, Fearne has £6061.62 in her account.
Work out the value of n.

3

5600 X ). 0Z

7’

600 x .02

..................... T

(Total for question 8 is 2 marks)

/
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9  Alice is going to invest some money for 5 years.
She can choose fromﬂ( two options:

Investment A: 2.7% compound interest per annum

Investment B: 2.8% simple interest per annum

Which investment should Alice choose
You must show your working.

= >

.
oo x |.027 = 11472 2.9x5 = |4

IVIC/@QI{ OL /Z/(L;S Il/’c/f’a}*e oj’ /9‘/;0

dhe slawut cClhops€ Javes b vment H

(Total for question 9 is 4 marks)

o ‘ | /



Matt wants to invest £8000 for three years. He can choose between Bank A and Bank B.

\

JRlina
Bank A Bank B
1.2% compound interest 2% compound interest in
per annum the first year
1% compound interest
for each extra year

Which bank will give Matt the most interest after three years.

You must show your working.

2

%W}
ooo x [.0/2

= £829). 47

gooo x /.02 X [.0)

2

fF 9324 .02

(Total for question 10 is 4 marks)

/
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~

Melvin invests £5000 in an account paying 2.5% compound interest per annum.
Charlie invests £4500 in an account paying 3% compound interest per annum.

Work out the difference between the amount of of money Melvin has after 5 years and the amount of
money Charlie has after 5 years.

s
Melvinn ? Sov o X /.025 = ‘L 57. o
g .
Cloortie - 4 soo x /.03 - 521/6.73
sc57. 04 — 5216.753
= Y40, 3

(Total for question 11 is 4 marks)

v







1 Write down the ratio of 350 cm to 25 cm.
Give your answer in its simplest form.

250: 25

~a5 2%

IQL:I

.......................................................

(Total for question 1 is 2 marks)

2 Write down the ratio of 220 kg to 5 kg.
Give your answer in its simplest form.

220 5
25 > 5

hy < |

......................................................

3 Alex has the following coins:

Write down the ratio of the value of Alex’s 20p coins to the value of Alex’s 50p coins.
—

$o: |50
4‘:/5




4 (a) Write the ratio 32 : 24 in its simplest form
5 z g
<8 :

473

(b) —é— of people in a class are left handed.

Write the ratio of left handed people to right handed people

/.

8
LI
7

7

(Total for question 7 is 2 marks)

5 (a) Write the ratio 15:35 in its simplest form.
~5 )

i 3.7

....................................................

1
(b) There are red shapes and blue shapes in a box, % of the shapes are red. v
Write the ratio of red shapes to blue shapes.
2 L
BT e 20
9 M

(Total for question 9 is 2 marks)




-

6

(a) Write the ratio 81 : 27 in its simplest form
29 2
7:3
r3 3 | | 2

3 1)

(b) % of chocolates in a box are white chocolate, the rest are milk chocolate.

Write the ratio of white chocolates to milk chocolates.

3 . 2
3 s

(Total for question 6 is 2 marks)

7

(a) Write the ratio 24: 72 in its simplest form.
g 2 ¥
3: 9
3 /] 3

(D
(b) In February, it rained on ; of days
Write the ratio of the days it rained to the number of days it did not rain.
I
7 7 3 %L
(1)

(Total for question 9 is 2 marks)




8 Write the ratio 7.5 : 2.5 inthe formn: 1
2.5 —T2.5

3° 1

.......................................................

(Total for question 8 is 1 mark)

9 Write the ratio 12 : 30 inthe form 1:#n
NN
25
) 2.5

.......................................................

(Total for question 9 is 1 mark)

10 There are some cubes in a bag.

% of the cubes are red.

The rest of the cubes are blue.

Write the ratio of the number of red cubes to the number of blue cubes.
Give your answer in the form 1 : »n

(Total for question 10 is 2 marks)

_ . W,




11 There are only blue counters, red counters and yellow counters in a bag.
2
There are twice as many blue counters as yellow counters. 2
There are three times as many red counters as yellow counters. , . y
3
Write down the ratio of blue counters to red counters to yellow counters.
B R oY
(Total for question 11 is 2 marks)
12 There are only green pens, black pens and red pens in a box.

There are four times as many green pens as black pens. ¢l
There are twice as many red pens as green pens. 4§

Write down the ratio of green pens to black pens to red pens.
G B R
poo )8

(Total for question 12 is 2 marks)

_




Charlotte, Jo and Mike played a game.

Charlotte’s scored four times as many points as Jo.
Mike’s scored half as many points as Charlotte.

Write down the ratio of Charlotte’s points to Jo’s points to Mike’s points

c - J - m
y 2

(Total for question 13 is 2 marks)

14

There are 120 people in a school canteen.
Half of the people in the canteen are in year 11 students. O

The number of year 11 students in the canteen is three times the number of year 10 students.
The rest of the people in the canteen are year 9 students. B0 = 2 O

the number of year 9 students : the number of year 10 students = # : 1

Work out the value of 7.
You must show how you get your answer.

|20 — L0 — 20 = 4O Yenr

(Total for question 14 is 2 marks)

_




15

In a bag there are blue sweets, red sweets and yellow sweets.

The number of red sweets is three times the number of blue sweets.
The number of yellow sweets is half the number of red sweets.

Write down the ratio of blue sweets to red sweets to yellow sweets.
Give your answer in the form a: b : ¢ where a, b and ¢ are whole numbers

g r Y
R
2 6 3

.......................................................

16

In a bag there are blue sweets, red sweets and yellow sweets.

The number of blue sweets is four times the number of yellow sweets.
The number of red sweets is half the number of yellow sweets.

Find the percentage of sweets in the bag that are yellow.

B kR Y
g - 0.5

\/e (/tﬂ ) %—

L /0O loo
T T N %

(Total for question 16 is 2 markb

[/ (g ]
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1 A machine fills 1000 bottles in 5 hours.

Work out how many hours it would take the machine to fill 1200 bottles.

OO0 botles a D lhowr Sy
== 5

OO lbbo Hle s VA \' Whoour &

200 lyo H-e s P 6 Lowr S ‘Z

(Total for question 1 is 2 marks)

2 It costs £0.75 to buy 5 bananas.

Work out how much it would cost to buy 7 bananas.

% O. 75 7ao/ 5 bartasto )
¥ %

f O/5 (ﬂ-o/ / /OOLV(Q/\QL \}
J
x 7

2l.os  fy

1 b AN g~




3 3 tins of beans and 4 tins of tomatoes costs £2.73.

5 tins of beans costs £1.55.

Work out how much one tin of tomatoes costs.

6. {'7-1/1,3 o} Lecnd Ceo )} £ 1.5 5
=
[ f/lyl O}' L»eanj C_,g))f_y Z—OB /

3 finsy o) becins Coyis Z,O.?%XS

273 —0.9% = 31.80
£ 1-650 70\)/ 4 trns ol tomotoen

150 =S 4 — 0.4 4
! L0458

(Total for question 3 is 2 marks)

4 There are 500 sheets in a pack of paper. 500 sheets of paper weigh 2.5kg.

Work out the weight of 50 sheets of paper.

50d sheets weigl 2.5 ke
&’%io
J

50 Sheers 'wefj"« 0-2§k3

\ (Total for question 4 is 2 marks)J




K I{\Ve(SDQ p‘WOPC)(ﬁO\/\ - \
5 It takes 2 painters 4 days to complete a job. MOfe PU@V\QI R A hawe .

Work out how many days it would take 1 painter to complete the same job.

i pai/\l'e( N tole  H OLCU-:SS

QX =B B da(dS o) work neededl .

(Total for question 5 is 2 marks)

6 It takes 3 machines 2 days to produce a batch of products

Work out how long it would take 1 machine to produce the same batch of products.
3x2 = 6

6 OQCUjS o) Mochine work peedeof

K (Total for question 6 is 2 marks)J




- N

7 It takes 3 painters 6 days to complete a job.

Work out how many days it would take 2 painters to complete the same job.

Ix 6 €| 8
| Y o{aiUS of work neededd

) (FOLIY/\%/S %: | O(Ouj 3

(Total for question 7 is 2 marks)

8 It takes 5 machines 6 hours to produce 1000 DVDs
Work out how long it would take 4 machines to produce 1000 DVDs.

hours

5 X6 = 30 Mac/l/\(me eLa{:)::) neededl

30 _ 7.5 hows

(Total for question § is 2 marks)j
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9 xis inversely proportional to y.
x is given by the formula: y

Find the value of x when y = 50
_ loo0©
xX - —

J

>x = 1eef = 20

50

(Total for question 9 is 2 marks)

10 y is directly proportional to x.

y is given by the formula: y=04x

Find the value of y when x =6

d
J

o 4 x

o C,v(é)

(1

{

y =2Lf ........
(Total for question 10 is 2 mar@




/

11 The weight of a piece of wire (w grams) is directly proportional to its length (/ cm).

w is given by the formula:

w=130/
Find the length of a wire weighing 75 grams.

w = 3o/

75 = 304
75 -
30

(Total for question 11 is 2 marks)

12 The force, F, between two magnets is inversely proportional to the square of the distance, x cm,
between them.

F is given by the formula: F=-38

Find the Force when two magnets are 3 cm apart.

- 36
F- =
x
kS

o~

3

\

< s\yg ‘“N\

F= .. (71/ .............. N
\ (Total for question 12 is 2 marky




- 2

13 Here are four graphs.

A y‘ B y‘
0 e 9 r4
y y
A
‘ bt
0 ? 0 ;

Match each graph with a statement in the table below.

- Proportionality relationship ! Graph letter

|y is directly proportional to x

O%

| y is inversely proportional to x

SIb

 y is directly proportional to x*

| y is inversely proportional to x*

O

(Total for question 13 is 2 marks)

. J







(a) On the diagram below, draw a radius of the circle.

(b) On the diagram below, draw a sector of the circle.
Shade the sector.

(Total for question 1 is 2 marks)

(a) Write down the mathematical name for the straight line touching the circle.

(b) Write down the mathematical name for the straight line shown in the diagram.

....................................................

(Total for question 2 is 2 marks)/




/

3

A circle has a radius of 6.5 cm.
Work out the circumference of the circle.
Give your answer correct to 2 decimal places.

Circumference = 21T
- 27(6.5)
= 137
TH40. 84 em GO 8% em......

(Total for unestion 3 is 3 marks)

A circle has a diameter of 9m. Raclc A5 = . 5
Work out the area of the circle.

Give your answer correct to 1 decimal place. 9m

2
Heea = 77 ¢

= 77[4/‘.5)2

<‘
A

&/
—  e——

- .6 m

(Total for question 4 is 3 marks)

A circle has a diameter of 12 mm.
Work out the circumference of the circle.
Give your answer in terms of

» 12 mm
Cireumference = T A
= m(r2)
= (27T
” | 27T...mm

(Total for question 5 is 3 marks)

A circle has a radius of 8 cm.
Work out the area of the circle.
Give your answer in terms of

2

Brea = T
:77/[3)L
S

z

(Total for question 6 is 3 marks)j




/

7 A semi-circle has an area of 50 m*.

Find the perimeter of the semi-circle.

4
. 5 = 's
Arceo- oF Seml circle = —77:,_,
P
2
77/:&__ = o
s
,r’-'(z:» \OCD
2 o
s el
TT
r = \O @
e
= 5.44089 -

d/ame#ef = S. 64189 k 2
=4/ 28379

Give your answer correct to one decimal place.

it. 23

cifcumferenct 17 ol
(Wlno}e c.’rc(e)
= 35 . 449...
35 44 7
S 17.7% --.
Z
(.28 + 17.72 = 29.0
................. 2.9 m

(Total for question 7 is 4 marks)

8 A circular field has a diameter of 32 metres.

Each metre of fence will cost £15.95

Work out the total cost of the fence.

A farmer wants to build a fence around the edge of the field.

Ci(cwm("e/encc z T A
= 77’(5‘2)

= 321

227 X 15.95 <

{160 3. 477

(Total for question 8 is 3 marks)

/




1
!
i

An area is formed by a square, ABCD, and a semi circle.
BD is the diameter of the semi circle.

The radius of the semi circle is 4m. diameter = & an
The area is going to be covered completely with lawn seed.
A box of lawn seed covers 25 m®.

How many boxes of lawn seed will be needed?
You must show your working.

Ace e o} s7uore - Sk

= é?‘—mi
Sewmi - ‘ 2
Brea of crrele =TT
2.
=7 ()
2.
= SIT
e 251 )"7Z
cy + 25./ == 3‘%/»;1
-

75—/"7 = 3 boxes
[/ 0Om™* = 4 boxes

LY

(Total for question 9 is 5 marks)

/




10

The diagram shows a shaded ring formed by cutting a smaller circle
out of a larger circle.

The radius of the smaller circle is 6 cm.

The diameter of the larger circle is 15 cm.
=7 >

Find the area of the shaded ring.

Shaded Hea = large Hréa — Sma ll Vi ea

m(7.5)" - 7 (6)°

il

(A

J

2L ok (3. ¢ cm
17(.

(Total for question 10 is 3 marks)

1

The diagram shows three quarters of a circle with a
radius of 12 metres.

Find the perimeter of the shape.

Circum fecence [wl«ole. Q;/Cfe) c 270

:2‘77'(1?.)
:ll.f‘ﬂ"
2ox o4nm = 18T
4
PfrimeH/ = J§m t 2Tz

{

0. 55 m (2p)

(Total for question 11 is 3 marks)

4




A | Zem B

12 The diagram shows a semi circle inside a sector of a circle, ABC.
AB is the diameter of the semi circle.
Angle BAC = 90°
AB=12cm

Find the area of the shaded region.

Radius of semy; —crrele = Lem
e = r’ L ecle = 1 2em
}/}fea a}/ §€aq 1 C(fC.(ﬁ = /Z;/ Zaﬂ(/!/"j o}/ 7 C/f(,{,
Z 2
/f}fea. 0}» /' circle = 7
2 Rl
= 17 (%) ¢ ¢
2
i =17 (12)
= | & Y
' = 34677
Shaded Hrea = 3L —I1&T [ &

= (87 op 54 5em"
(Total for question 12 is 3 marks)

13 Accircle is enclosed by a square as shown in the diagram.
Each side of the square measures 8cm.
Find the area of the shaded region.

Give your answer correct to 1 decimal place.

Preea o squee = §Xx & = by em”

Cperen  of circle = T (4)

= &

Shoded HAeea = C4y ~ 1477

~ /3-7(’/”7/7’

(Total for question 13 is 3 marks)

- Y
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Shape A is a semi-circle which has a radius of 12 cm.

Shape B is a circle.

The area of shape A is 8 times the area of shape B.

Show that the radius of shape B is 3 cm.,

& N A
Area oF sem( -Circle = TT 7
7
Y
= (12
s
2
= 72
Prea oF 6 = 72T
&
= 97

-2
Z
Brea ok circle = ¢
vt = 17
r> 7
= 3
—

(Total for question 14 is 3 marks)
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o 1 2 3 4 5 6 7 8 9 10 11 «x

Rotate triangle A 90° clockwise about (4,3).

(Total for question 1 is 2 marks)

L Rotatien Vo Andiflockeise Centre ’,...Q.). .....................

............. / PR -.-.--....-.....--........--..---....-/a..-. Rl TR
('I‘otﬁl for question 2 is 2 marks)

/




aH

— B

=V

Rotate shape A 180° about (1, 0)
(Total for question 3 is 2 marks)

| .
)

v

(Total for question 4 is 2 marks)

_




Rotate shape A 180° about O.
(Total for question 5 is 2 marks)

A

Rotate shape A 90° clockwise about centre O.

(Total for question 6 is 2 marks)

\
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A

v

Describe fully the single transformation that maps triangle A on triangle B.

£06W0f4,700ﬂw‘97c4@c/4w»€, ..... G W€(2/3>

<V

(Total for question 7 is 2 marks)

Y 4
5

L gl

A
1
W
[—
2]
L2
S
w

v

.....................................................................

I 4

(Total for question 8 is 2 marks)
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1 On the grid, reflect the shaded shape in the mirror line.

-=-=» mitror line

(Total for question 1 is 1 mark)

v
Describe fully the single transformation that maps shape A onto shape B.

o Relection. i T AT AELS .

(Total for question 2 is 2 marks)

N /




Y a

WV

Reflect triangle A in the y-axis.

(Total for question 3 is 2 marks)

A

«Vv

Reflect shape B in the line y = 3.

-

(Total for question 4 is 2 marks)

J




S
«V

Reflect shape A in the line with equation x = -1

(Total for question 5 is 2 marks)

a

o £

v

Describe fully the single transformation that maps shape A onto shape B.
Rellection  in. ANe. FmBKIS i

(Total for question 6 is 2 marks)

\ _/




Describe fully the single transformation that maps shape A onto shape B.
Rellec tion. it the... x-akX!]

(Total for question 7 is 2 marks)

1
< X
4’
6 5 4 3 2 10 1 2 3 4 5 6 7
1
2
L
v

...................................................................................

...........................................

(Total for question 8 is 2 marks)

/




Y I I

-1 0 1 2 3 4

v
Reflect the shaded shape in the line y = 4

(Total for question 9 is 2 marks)

10

Reflect triangle A in the line y = x

(Total for question 10 is 2 marks)

.

/







1
On the grid draw an enlargement of the shaded shape with scale factor 3
(Total for question 1 is 2 marks)
2
On the grid draw an enlargement of the shaded shape with scale factor 2
(Total for question 2 is 2 marks)

\_ /




<+ ¥
-1 O 1 2 3 4 5

S 4

L

v

Enlarge the shaded triangle by scale factor 2, ceritrev(l, 0)

(Total for question 3 is 2 marks)

4

10

d

ol 1 2 3 4 5 6

v

Enlarge the shaded triangle by scale factor 1.5, centre O.

(Total for question 4 is 2 marks)J




Describe fully the single transformation that maps shape A onto shape B.

LCeatot (45

—

lfw¢Mj£/,5ca/e7[a,ahr

crersseirts

(Total for question 5 is 2 marks)




4 " ™~

é’rplaf;&mm,sdqfefﬂwff ..... Z eeens C«eﬂ*"ﬁ("7//) ..............

...............................................................................................................................

(Total for question 6 is 2 marks)




b
7 :
// //,-
6 7
7
A
5 R
L A/
1)
4 N 7
3 , /
/1
/
/
< - P
7 6 5 4 3 2 , 2/34567
/
/
N/
-4
-5
-6
-7
v
Describe fully the single transformation that maps triangle A on triangle B.
v
..... Entac, «amenf/SCﬂ/f/aC*NZ/Ceﬂ%ff(;/é)

...............................................................................................................................

(Total for question 7 is 2 marks)







Translate triangle A by the vector (

1
6
- 5
a2 4
3
2
1
X
< P>
6 -5 -4 3 -2 -1 0 1 2 3 4 5 6 7
-1
-2
v
Describe fully the single transformation that maps triangle A on triangle B.
............... B e CtTRL i Ao s consenmsmmncmasmasissyssemoneia eissimmsmsenss -
by the veche (Total for question 1 is 2 marks)
2 Y
9
8
7
6
5
4 /
3
2 ™~
1
0o 1 2 3 4 5 6 7 8 9 10 1lx

(Total for question 2 is 2 marks)

-

%




\
J

V'

v

......... A T S

by +he vechor (Total for question 3 is 2 marks)

t 4

O 1 2 3 4 5 6 7 8 9 10 11

Translate shape A by the vector (—32)

(Total for question 4 is 2 marks)

\ /




YA
5
(- 3
——2
1
5 4 3 2 -1 0 3 4 S:x
-1
-2
-3
_4¢
Describe fully the single transformation %ha maps shape A onto shape B.
............. é’m/ﬂ/f'ﬁm‘/m,,['/)
)"7’ the vectr (Total for question 5 is 2 marks)
6 ;Vqt
8
7
6
5
4
3
2
1

O 1 2 3 4

Translate shape A by the vector (—?)

(Total for question 6 is 2 marks)

-

J




4

HVJ'

Describe fully the single transformation that maps triangle A on triangle B.

0
Lranslation A("f) ............................................................................

by the vechr (Total for question 7 is 2 marks)

Translate shape A by the vector (_82)
(Total for question 8 is 2 marks)

N } Y




(Total for question 1 is 2 marks)




Describe fully the single transformation that maps triangle A on triangle B.

6
Cranslation by The vector (2 /) .. S
(Total for question 2 is 2 marks)

...........................................

%V

v

Rotation .. 90" pok Clockaie., . Lentee (202) ...

.................... s
(Total for question 3 is 2 marks)

- Y




Reflect shape A in the line with equation y = x
(Total for question 4 is 2 marks)

...........................................................................................................

\ (Total for question 5 is 2 marks)




Enlarge the shaded triangle by scale factor 3, centre O
(Total for question 6 is 2 marks)

1

10

ol 1 2 3 4 5 6 7 8 9 10 x

Enlarge the shaded triangle by scale factor 2.5, centre O.

(Total for question 7 is 2 marks)j




xi'

Shape A is transformed to shape B by a reflection in the x axis followed by a translation (1’ )

Find the value of p and the value of ¢.

(Total for question 8 is 3 marks)




4 N

X

™

Y

>

(a) Reflect shape P in the line x = 1.
Label the new shape A.

(b) Translate shape P by the vector ( 5 )
Label the new shape B. -

(c) Rotate shape P by 90° anticlockwise, centre O
Label the new shape C

(Total for question 9 is 3 marks)




10

v

DN

(a) Rotate trapezium T 180° about the origin.
Label the new trapezium A.

(b) Translate trapezium T by the vector (:;)
Label the new trapezium B.

(Total for question 10 is 2 marks)
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1

Here are four angles A, B, C and D.

-

A B C

(a) Measure the size of angle C.

(b) Match the angle mathematical name to the angle.

LLO

Mathematical Name Angle
Acute Angle D
Obtuse Angle C
Right Angle 2
Reflex Angle 3

(Total for question 7 is 3 marks)

2

In the space below draw an angle of 60°
Label the angle 4.

(Total for question 2 is 1 mark)

J




-

3 In the space below draw an angle of 110°
Label the angle B.
(Total for question 3 is 1 mark)
Diagrams are NOT accurately drawn, unless otherwise indicated.
4 ABC is a straight line. Work out the size of the angle marked x.
A B C
X/121°
D
igo — 121
s
(Total for question 4 is 2 marks)
5 Work out the size of the angle marked x.

60 — 235 = 125

145°

. 2.5 ;

(Total for question 5 is 2 marks)

/




AB and BC are perpendicular lines. Work out the size of the angle marked x.
4

52°

90 — 54

38

(Total for question 6 is 2 marks)

7 ABC is an isosceles triangle Work out the size of the angle marked x.
B
65|
A4
65°
.

65 65 = 130

O — 130 = 50

50 ¢

(Total for question 7 is 2 marks)

- /




\132°

(a) Work out the size of the angle marked x.

(b) Give a reason for your answer.

Ig@ —/‘39_
49D °

%g/ﬁd O+l s\r‘ra,’jh{ Z""’le oal o %3 /fOo

(Total for question 8 is 2 marks)

The diagram shows a square ABDE and an equilateral triangle BCD.

A B

(a) Write down the size of angle ABD
(b) Write down the size of angle BCD

(c) Find the size of angle ADC

G5 +— 60

fo

/] O 5 °

(Total for question 9 is 4 marks)

/




10
122°
99°
9g +/22 = 221
221 +90 = 311
(a) Work out the size of the angle marked x. 260 — 311 = L/. 9
@] °
(b) Give a reason for your answer. !
Wg(éd aound. o {po;‘n t ol o 360"
(Total for question 10 is 2 marks)
1 y
y 64° 32" C

cy ~+ 3 T q¢

- ®
(a) Work out the size of the angle ABC. | €O a6 Lr

< ’
(b) Give a reason for your answer.
(¢}

pm%za CAL O ‘br-fcu\_%le add bEo \@O

(Total for question 11 is 2 marks)

/




~

12 ABC is a straight line. Work out the size of the angle BDC.
D
55\/2¢8 29°
4 " B - C
5+29 =154
lgo — o = 110 | 2 |
o _ o - 154 = 26
L8 =55 | ¥
7
co - 55 = 125
L6 °
(Total for question 12 is 4 marks)
13

62 62/\118°

(a) Work out the size of the angle marked x.

ks £2 °
(b) Work out the size of the angle marked y.
lgo — 24 5 6 ;

(c) Giveareasorbfor your answer.

rgles at The hbajl of g JyoSceles Aviengle

(Total for question 13 is 3 marks)

-

/




ABC is a straight line.

&
= S €
Show that ABD is an isosceles triangle
4Ry = 56 ° Pngles en o steeiguf  lie
wdd o /] FO°
56 +6% = 2y
lgo — 12y = & (
A DA = 567 pmgles Jm e Erinyfe ek
b 1EOT
ﬁuo a—/\&/eJ Q.c](/(w( o o }SOSC@_‘(&@.J f/‘zrcxzj{‘{

(Totél for question 14 is 4 marks)
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1

The diagram shows two shapes on a centimetre grid.

i - w! > e———k 2 5
(a) Find the area of shape P
: E G v 6 -
base x kgt X2 = 1&em
2

2

(b) Write down the mathematical name for shape Q.

(c) Find the area of shape Q.
]g AL X et § W

2

| 2 cm’

para L el © 9o

/ 5 cm’

(Total for question 1 is 3 marks)




\

The length of a rectangle is two times the width of the rectangle.
The perimeter of the rectangle is 24 cm.

Wi ot leagtn perimet=er

) 2
Z (&

2
3
¥ x 8 ;v S

Draw the rectangle on the centimetre grid.

(Total for question 2 is 2 marks)

3

The length of a rectangle is three times the width of the rectangle.
The area of the rectangle is 48 cm?.
berA T 12 gile o—e o

Draw the rectangle on the centimetre grid.

9 £ (2
3 . o 2 7

4 x 12 v z « £

(Total for question 3 is 2 marks)




-

4

The base of a triangle twice the height of the triangle.
The area of a triangle is 16 cm’.

Draw the triangle on the centimetre grid.

base x heigut o 1€
%
beasg x Weiguf = 372

heiglt

% ¢
3 ¢
- .

L)a f€

~

]r)(l fe x\/\z.‘r"'gw'
o aud’
g
1
3T

(Total for question 4 is 2 marks)

5

The base of a parallelogram twice the perpendicular height of the parallelogram.

The area of the parallelogram is 50 cm’.

Draw the parallelogram on the centimetre grid.

Lm)/e_

¢

£
/o

\/\k,‘(:)\/\.\"“
3

¢
g

(S
;&€
32

e

(Total for question 5 is 2 marks)

_/




Here is a rectangle.

7 cm

4 cm

The six-sided shape below is made from two of these rectangles.

Y 7

Work out the perimeter of this six-sided shape.

36

(Total for question 6 is 3 marks)

cm

7

A square has an area of 64 cm’. g
gx 8 =LY
% 64 cm® g
Find the perimeter of the square. 8
y k 8 = 372
D2 cm

(Total for question 7 is 2 marks)

J




F

8

A square has a perimeter of 36 cm.

Find the area of the square.

g [ cm’

(Total for question 8 is 2 marks)

9

The diagram shows a right angled triangle and a parallelogram.

7m[\\L //f ~//
4
4 cm Y4 e .

imes the area of the triangle.

The area of the parallelogram is four t

The perpendicular height of the parallelogram is 4.

Find the value of A. ' ”

dra o) trioagle = XL = L} e
2

-

[
(Total for question 9 is 3 marks)

- _
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10 The diagram shows a garden is in the shape of a trapezium.

S5m
J

7m

Find the area of the garden.

l (431—10) x 7
2
L(15) x7
2=
7.5 x 7 °02.5 m

(Total for question 10 is 3 marks)

11 Here is a trapezium drawn on a centimetre grid.

= ¢ ——
f
N
INEERN
IE \
\ N
\ |
< L — 7 —>
Find the area of the trapezium.
T‘if (4 +7) X >
I R
5.5 x5 272 o

(Total for question 11 is 2 marks)

\_ ' )
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12 The diagram shows a trapezium with an area of 30 cm? and a perpendicular height # cn’.
3cm
A
h
A
7 cm
Find the value of 4.
L(3+7)xk = 30
= 30
A~ | © x
y (re)

h= é [cm]

N

(Total for question 12 is 2 marks)
13 The diagram shows a trapezium with an area of 45 cm? and a perpendicular height 4 cm®.
6 cm
h
9cm
Find the value of 4.

/‘Z(;‘S)%L* t
- 45
7.6 k v
Lo ek

7.5 h=

4 [ m]

(Total for question 13 is 2 marks)

/






Tina has two bags of counters, Bag A and Bag B.

There are 5 red counters and 3 blue counters in bag A.
There are 4 red counters and 5 blue counters in bag B.

Tina takes at random a counter from each bag.

(a) Complete the probability tree diagram.

Bag A Bag B
Red
Red
Blue
Red
Blue
Blue
2)
Covnters
(b) Work out the probability that Tina takes two blue pess.
3 5 . 12
89 TF
|5
—
T
2)

(Total for question 1 is 4 marks)

5
21




Hannah is going to play one game of chess and one game of backgammon.
The probability she will win the game of chess is 0.6
The probability she will win the game of backgammon is 0.7.

(a) Complete the probability tree diagram.

Chess Backgammon

Hannah
wins

Hannah
wins

Hannah does
not win

Hannah
wins

Hannah
does not
win

Hannah does
not win

)
(b) Work out the probability that Hannah will win both games.

.42

i

0.6 x 0.7

o.4H 2

2)
(Total for question 2 is 4 marks)




Rachel has two bags.

In the first bag there are 4 red balls and 6 green balls.
In the second bag there are 3 red balls and 5 green balls.

Rachel takes at random a ball from the first bag.
She then takes at random a ball from the second bag.

(a) Complete the probability tree diagram.

First Bag Second Bag
Red
Red
Cireen
Btue
Red
Cireen
Biue
2)
Ireen bolls
(b) Work out the probability that Rachel takes two bk pess.
& 5 _ 3o
X - e
[0
3.0
@)

(Total for question 3 is 4 marks)

]




Jo is going to play one tennis match and match of squash.

The probability she will win the tennis match is %

.7
The probability she will win the squash match is 10

(a) Complete the probability tree diagram.

Tennis

Jo wins

Jo does
not win

(b) Work out the probability that Jo will win both matches.

& 7 . T8

X _— "

) / O 50

Squash

Jo wins

Jo does
not win

Jo wins

‘

Jo does
not win

@)

2.8
50

@)

(Total for question 4 is 4 marks)

()

/




Each day Paul wears either a black tie or a red tie to work.

On any day the probability he wears a black tie is %

(a) Complete the probability tree diagram for Monday and Tuesday.

Monday Tuesday

Black
Tie

Black
Tie
Red
Tie
Black
Tie
Red
Tie

Red
Tie
@)
(b) Work out the probability Paul wears different coloured ties on Monday and Tuesday .
5., f 2
= X _— =
7 9 g
720
/Lf/ X i =
9 v g |
22 & 28 = 42
'3 2 g G O
i et
3\
@)

(Total for question 5 is 4 marks)

/




Jon plays a game where he can win, draw or lose.

The probability Jon wins any game 0.5.
The probability Jon draws any game is 0.3

Jon plays two games.

(a) Complete the probability tree diagram

First game Second game
......... 0.5, Win
. 0.
Wi O 5.
0.5 O- 7. Lose
205 Win
0.3
iy A ST Draw
0.7 Lose
....... 05 Win
N
Lose Draw
O/ Lose
(b) Work out the probability Jon wins both games. 2)

0.5 x 0.5 = 0.25

0.-25

2)
(Total for question 6 is 4 marks)

/




Bradley gets the bus on Saturday and Sunday.
The probability that Bradley’s bus will be late on any day is 0.2

(a) Complete the probability tree diagram.

Saturday Sunday

late

Bus is O,OL/'

Bus is

late
Bus is O ./ &
not late
Busis 5. [ 4
late

Bus is

not late
Bus is
not late g-6 %

(2)

(b) Work out the probability that Bradley’s bus is late on at least one of these days.

0‘7—5{02 &= OO%
0.2x0.8 = o1&
O.§x 0.2 = 0./¢

O.0¢ +o0./6+ 0./&
O .36

(Total for question 7 is 4 marks)

)

/







The two way table gives information about how 100 students travelled to school.

Walk Car Other Total
Boys 15 26 b 52
Girls /8 22 8 48
Total 33 ¥ 19 100
(a) Complete the two way table. 3)

One of the students is picked at random.

(b) Write down the probability they walk to school.
DS
.................. LR
(1)

(Total for question 1 is 4 marks)

The two way table gives information about the favourite sport of 150 students.

e

Football Rugby Other Total
Boys 35 17 21 73
Girls 47 Li 31 77
Total 77 21 52 I 50

Complete the two way table.

(Total for question 2 is 3 marks)

The two way table gives information about the favourite subject of 200 students.

Maths English Other Total

Year 10 iy 3/ 26 98
Year 11 47 | O Lt 5 /o2
Total 88 41 7] 200

(a) Complete the two way table. 3)
One of the students is picked at random.
(b) Write down the probability they are a year 10 student whose favourite subject is maths.
X
" X O N
(1)

(Total for question 3 is 4 marks)

%




There are 170 students in year 7 at a school.
All of these students either walk to school, get the bus to school or cycle to school.

82 of the students are boys.
33 of the students get the bus to school.

19 of the 41 students that walk to school are boys.

56 girls cycle to school.

Complete the two way table.

Walk Bus Cycle Total
Boys rg 2 3 b0 $ 2
Girls 12 I O 56 g
Total g/ 275 T6 170

(Total for question 4 is 3 marks)

A football team played 38 games.
19 games were played at home and the rest were played away.

The team won a total of 21 games.
They drew 4 games away.
2 of the 10 games they lost were at home.

Complete the two way table.

Won Drawn Lost Total
Home | H 3 2 ] 7
Away 7 H < 19
Total 2 7 I O 33

(Total for question 5 is 3 marks)




K

6 100 students attended a revision lesson at the weekend.
Each student went to Maths or English or Science.
55 of these students attended on Saturday.
Over the weekend a total of 40 students went to Maths.

12 of the 27 students that went to Science went on Sunday
10 students went to English on Saturday.

How many students went to the Maths revision lesson on Saturday?

MD"//L’J' { ’”‘j Pis S'C/'t’n ¢

Vo e

Safu/c’(“y 3 O / O [ 5

55

Surz/(“\j ] O 23 / 2

G4 5

Tota } 4 O 33 27

| ©O

-1« -

(Total for question 6 is 4 marks)

_/




120 students are asked whether they like biology or chemistry or physics best.
52 of the students are in year 11, the rest are in year 10.

45 students like physics best.
20 of the year 11 students like biology best
16 of the 30 students who like chemistry best are in year 10.

Work out how many year 10 students like physics best.

g/o /o 9Y C/lé/m‘)‘fry f/tyf/'(f Tatod

Jear 0 25 /6 27 65

yeo?r / | Z,O | /éf /(? 6-2
Total G4 5 30 45 | 720

....... AV

(Total for question 7 is 4 marks)

_/




100 students in year 7 either study French or German or Spanish.

45 of the students are boys and the rest are girls.
12 boys study German. -

15 boys and 17 girls study French.

A total of 30 students study Spanish.

Work out how many girls study Spanish.

French | German

5;0&/7/'.!2!

Boyy /5

A

/&

Gir/s | 17 26 ) 2 55
Tobal 32 S8 s O | 00

/




Two different schools, school A and school B, attended a conference.

12% of the attendees were teachers, the rest were students.
47% of the attendees were from school A.

48% of the attendees were students from school B.

One of the attendees is selected at random.

Find the probability that they are a teacher from school A.

Studeats

T eachers

o Ao/

50&100/ /4

0

5

‘47

Scbool &

L &

5

53

Jota/

g %

12

| 00O

(Total for question 9 is 4 marks)

OR/Z or 0.067

joo




10 300 students are asked how they get to school.
I All of the students either walk to school or get the bus to school.
58% of the students walk to school. | 7L{» EO 38 x 300 =17 ij
45% of the students are boys. 135 , [O-%S X 300 2= | 35]
21% of the boys ‘get the bus to school. = -
SHTPents ae 65 CO-Q’X,3°° = 63_j

Work out how many girls walk to school.

Boys T2 6 3 /35

Girls /02 6 3 J 65

[od=] | 74 s 2o 6

.............................

(Total for question 10 is 4 marks)

_/
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1 The table shows information about the number of points scored in a game.

Points Frequency

0 X 9 O

1 X 11 Vo

2 X 18 36

3 3 7 L)

4 X 4 ) 6

5 X 1 5
Work out the mean number of points per game. 50 3 0]

(Total for question 1 is 3 marks)

2 The table shows information about the number of goals scored in a game by a football team.

Points Frequency
0 10 o
1 12 pa
2 x 2 x
3 7 2\
4 or more 0 O
The team scored a total of 55 goals.
Find the value of x.
12 + 2 » 21 = &8

23(:_\_'53:63

’29;:.17—
e &= i

.............................

(Total for question 2 is 3 marks)

N /




3 The table shows information about the number of goals a team scored in 38 games.

Points Frequency
0 7
1 14
2 11
3 6
4 ormore 0

(a) Find the median number of goals scored.

(b) Write down the mode

(c) Work out the total number of goals the team scored in all 38 games.

O x 7
| x 14

2x||
% x b

Ny

= O
=

= 22

|\ %

v 22 + VB

- B4

~

-----------------------------

)
(Total for question 3 is 4 marks)
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4  Adam is measuring the heights in cm of his tomato plants.
Height (cm) P Frequency mM.p x p
140 <h < 150 145 X 7 jo 15
150 <h < 160 /55 X 10 1850
160 <h < 170 /Jks < 15 2475
170 < h < 180 1715 X 19 232 5
&
180 < h < 200 1Yo X 9 | 710
-
(a) Estimate the mean height. & O o 07 S
Give your answer correct to 1 decimal place.
10075~ Jezia (1dp)
§o |
.............. /67(7cm
3)
(b) Explain why your answer to part (a) is an estimate.
..... 2% €d0/10¥"ﬁwwfh@@wc%hf/gh/()}\aﬂw
U B TR Gt IS Grayped.
(wf dse The wiidpoint 4o echmate The LEGLS 0) plat (1)
(Total for question 4 is 4 marks)

/ 4 wp )
k n o each gk /J J




The table below gives information about the time taken for 20 people to run 5 km.

Time (minutes) a1, | Frequency mp k /C
15<t<20 745 X 3 52. 65
20<t<25 2215 x 6 125
25<t<30 9.6 x 7 192. S
30<t<40 3§F x4 L4 O

52 0

(a) Find the class interval that contains the median.

............................................ minutes
(1)
(b) Work out an estimate for the mean time.
520
- 26
20
................... 2 ...é..............minutes
€)

(Total for question 5 is 4 marks)




Michael recorded the maximum temperature every day in September.

The table shows information about his results.

Temperature (°C) M|pP Frequency mp X b
14<t< 18 / é x 4 64
24 <t< 28 2 A > 3 ~ 8
Calculate an estimate for the mean maximum temperature. 61 >
6 /5 - 20. 5
30
20. 5

(Total for question 6 is 3 marks)

)




/

7 The frequency table shows the time taken for 100 people to travel to an event.

~

(a) Find the percentage of people that travelled for more than 30 minutes to the event

20,4-42+e:‘-i—7

(b) Find the class interval that contains the median.

.....................................

(c) Find an estimate for the mean time taken for people to travel to the event.

27760 . 297
-
Jo O

.....................................

Time (minutes) 4 Frequency Mp- X [
10<t<20 k16 240
3206
20 <t <30 215 X 23
sz 575
30 <t < 40 |
40 <t <50 415 12 540
50 <t<60 £5  « 6 233 0O
27770

47 o
G L . A %

20<té sSo minutes

)

minutes

®)

K (Total for question 7 is 5 marks)J
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\

The bar chart shows how many hours of homework 30 students did last week.

A
10
8
Number 6 4
of RN
Students aa
4+
2 T
" o ] " ENE

Oto2 3to5s 6to 8 9to 11 12 to 14

Hours of Homework

(Total for question 8 is 3 marks)

/







Here is a list of 10 numbers.

2 3 4 4 4 5 6 6 7 7

(a) Work out the range.

7 -2 = 5
............. D
(b) Find the mode. 1)
(c) Calculate the mean. %(L;) """"

Lrda4 + 4+l + 5+ 6 +L 7 +7 = yog

.............................

Here is a list of 5 numbers.

(a) Work out the range.

V=4 = 7

............. Lo

(b) Write down the median. M

(c) Calculate the mean. C7
4 4+C + 9 + o +1/ = @0 M
72 -

S LS

2)

(Total for question 2 is 4 marks)

/




Here are the heights, in cm, of 8 people.

155 171 164 171 167 188 190 151

(a) Work out the range.

jgo — 151

(b) Find the mode. M

.............................

(c) Calculate the mean. 1

IS5+ 171 4+ 164 +/17] TIE T 4188 +/90 +1S/
= 1357

3577 _ 1 49.625 169,625

s @
(Total for question 3 is 4 marks)

Here are the weights, in grams, of 6 potatoes

150 129 125 133 144 105

(a) Work out the range.

/50 — 165 =¢8§

(b) Work out the median weight.

oS (L5 129 133 s 150

T

129 + 133 _ a3,

2 R Ao g

)
(Total for question 4 is 3 marks)

J
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5 Here are six cards. Each card has a number on it.

19 7 || 11

15

(a) Work out the range of the numbers on the cards.

)9 — 7

/2

1 4 4 5 6 8

(a) Work out the range.

Iy =1

(b) Find the mode.

11

/3

AN
()
(b) Work out the mean of the numbers on the cards.
L9 4 =7 g
— ] 7T
19 + 1| + |5 +15 +8+7 = 75
75 =5 [2.:.5...
6 @)
(Total for question 5 is 3 marks)
6 Here is a list of 10 numbers.

11

11 14

.............................

(Total for question 6 is 2 marks)

/




Here are seven cards. Each card has a number on it.

1205110181211 9

(a) Work out the range of the numbers on the cards.

/8 — &5 =13

.............................

(b) Work out the median of the numbers on the cards.

5 7 /o // /2 /2 |8

/

(c) Work out the mean of the numbers on the cards.

54+ 9 +lo +1/ +12 ~lz+1d = 77

77 =/

=~

\

(2) .......
(Total for question 18 is S marks)




Here is a list of numbers.

8 6 4 5 9 8

(a) Work out the median
' ' g ¥
4y 5 ¢ 8 % 9

Here are six cards.
There is a number on each card.
Two of the numbers are hidden.

4151716137

The mode of the six numbers is 4
The mean of the six numbers is 5

There wMust b{, at least
0N  more

DDD@@@

ool ol S 6 = éi

Work out the two numbers that are hidden.

The runrbes naut st
4 +S + 6 +3 + ¢ =2

3o -2 ¥ o , g

(Total for question 8 is 3 marks)




Here is a list of numbers.

14 19 15 20 11 14 19
(a) Find the range
20 ~11 =7
©) Calolstethomean (2) .......
I + 19+ 15+ 2o+l +14+19 = (|2
HZ = (¢
7 T
2)
Andrew says,
”The median is the middle number, so the median is 20.”
\ I [N 2
(c) Andrew is incorrect, explain why. 3 t 1 19 1 =
The. numbecs. howt. ho. be. ocdesed  Lost oo
Tl MRATAA G5 ] Do,
)

(Total for question 9 is 5 marks)

10

Here is a list of seven numbers.
One of the numbers is hidden.

1161710

The mean of the numbers is 9.

Find the value of the hidden number.

Tx9 63  The pnumbers

tl + 6 +7 + 1o + 7 +

§3 — 5o

9

= 5o

.............................

(Total for question 10 is 2 marks)

/
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11 The mean of eight numbers is 41.
The mean of two of the numbers is 29.
Work out the mean of the other six numbers.
x| = 323 Al NumMbrs fotal 323
S
2 X 29 = 58 Tewo noembess ho bl
22¢g — 58 = 2770
270  _
- 7
....... yaue T
(Total for question 11 is 3 marks)
12 Mark ran ag mean distance of 13.2 km in five days.
The next day Mark ran 20 km.
Find the mean distance Mark ran in the six days.
A o okou.\»\ S
12.2 X 5§ 2 66 km '
Ce + 20 = W6 i~ 6 B deys
86 = /¢ 3 km
6
..... / 4-; km
(Total for question 12 is 3 marks)

/







